

Najděte inverzní funkci: (určete $D_f, H_f, D_f^{-1}, H_f^{-1}$)

$$1) y = 2^{x+4} - 5$$

$$2) y = \frac{3x-1}{2x+4}$$

$$3) y = \ln(x+4) - 2$$

$$4) y = e^{x-3} + 1$$

$$5) y = \log_3(x-1) + 2$$

$$6) y = \sin\left(x + \frac{\pi}{2}\right) - 1$$

$$7) y = \arccos(x+2) - \pi$$

$$8) y = 2 \cdot \operatorname{Arctg}(x - \pi) + 2$$

$$9) y = -\operatorname{arccotg}\left(x + \frac{2}{3}\right) - \pi$$

$$10) y = \cos\left(x - \frac{\pi}{2}\right) + 4$$

$$11) y = \operatorname{cotg}(x + \pi)$$

$$1) \quad x = 2^{y+4} - 5$$

$$Df = R = Hf^{-1}$$

$$x + 5 = 2^{y+4}$$

$$\log_2(x+5) = y+4$$

$$\begin{aligned} &\nearrow \begin{aligned} x+5 &> 0 \\ x &> -5 \end{aligned} \end{aligned}$$

$$\boxed{\log_2(x+5) - 4 = y}$$

$$Df^{-1} = (-5, \infty) = Hf$$

$$2) \quad x = \frac{3y-1}{2y+4} \quad | \cdot (2y+4)$$

$$Df = R - \{-2\} = Hf^{-1}$$

$$2xy + 4x = 3y - 1$$

$$\begin{aligned} 2x+4 &\neq 0 \\ x &\neq -2 \end{aligned}$$

$$2xy - 3y = -1 - 4x$$

$$y(2x-3) = -1-4x$$

$$Df^{-1} = R - \left\{\frac{3}{2}\right\} = Hf$$

$$\boxed{y = \frac{-1-4x}{2x-3}}$$

$$\begin{aligned} 2x-3 &\neq 0 \\ x &\neq \frac{3}{2} \end{aligned}$$

$$3) \quad x = \ln(y+4) - 2$$

$$\begin{aligned} x+4 &> 0 \\ x &> -4 \end{aligned}$$

$$x+2 = \ln(y+4)$$

$$e^{x+2} = y+4$$

$$Df = (-4, \infty) = Hf^{-1}$$

$$\boxed{e^{x+2} - 4 = y}$$

$$Df^{-1} = R = Hf$$

$$4) \quad x = e^{y-3} + 1$$

$$Df = R = Hf^{-1}$$

$$x-1 = e^{y-3}$$

$$\ln(x-1) = y-3$$

$$\begin{aligned} x-1 &> 0 \\ x &> 1 \end{aligned}$$

$$\boxed{\ln(x-1) + 3 = y}$$

$$Df^{-1} = (1, \infty) = Hf$$

$$5) x = \log_3 (y-1) + 2$$

$$x-1 > 0$$

$$x > 1$$

$$x-2 = \log_3 (y-1)$$

$$3^{x-2} = y-1$$

$$\boxed{3^{x-2} + 1 = y}$$

$$Df = (1, \infty) = Hf^{-1}$$

$$Df^{-1} = R = Hf$$

$$6) x = \sin \left(y + \frac{\pi}{2} \right) - 1$$

$$-\frac{\pi}{2} \leq x + \frac{\pi}{2} \leq \frac{\pi}{2} \quad (\text{aby byl sinusova funkce})$$

$$x+1 = \sin \left(y + \frac{\pi}{2} \right)$$

$$-\pi \leq x \leq 0$$

$$\arcsin(x+1) = y + \frac{\pi}{2}$$

$$Df = \langle -\pi; 0 \rangle = Hf^{-1}$$

$$\boxed{\arcsin(x+1) - \frac{\pi}{2} = y}$$

$$-1 \leq x+1 \leq 1$$

$$-2 \leq x \leq 0$$

$$Df^{-1} = \langle -2; 0 \rangle = Hf$$

$$7) x = \arccos(y+2) - \pi$$

$$-1 \leq x+2 \leq 1$$

$$x+\pi = \arccos(y+2)$$

$$-3 \leq x \leq -1$$

$$\cos(x+\pi) = y+2$$

$$Df = \langle -3; -1 \rangle = Hf^{-1}$$

$$\boxed{\cos(x+\pi) - 2 = y}$$

$$0 \leq x+\pi \leq \pi \quad (\text{aby byl cosinusova funkce})$$

$$-\pi \leq x \leq 0$$

$$Df^{-1} = \langle -\pi; 0 \rangle = Hf$$

$$8) x = 2 \operatorname{Arctg}(y-\pi) + 2$$

$$-\frac{\pi}{2} < x - \pi < \frac{\pi}{2} \quad (\text{aby byl Arctg funkce})$$

$$x-2 = 2 \operatorname{Arctg}(y-\pi) \quad | :2$$

$$\frac{\pi}{2} < x < \frac{3}{2}\pi$$

$$\frac{x-2}{2} = \operatorname{Arctg}(y-\pi)$$

$$\boxed{\operatorname{Arctg} \frac{x-2}{2} + \pi = y}$$

$$Df = \left(\frac{\pi}{2}; \frac{3}{2}\pi \right) = Hf^{-1}$$

$$Df^{-1} = R = Hf$$

$$9) \quad x = -\operatorname{arccotg}\left(y + \frac{2}{3}\right) - \pi \quad Df = R = Hf^{-1}$$

$$x + \pi = -\operatorname{arccotg}\left(y + \frac{2}{3}\right) \quad | \cdot (-1)$$

$$-x - \pi = \operatorname{arccotg}\left(y + \frac{2}{3}\right)$$

$$\operatorname{cotg}(-x - \pi) = y + \frac{2}{3}$$

$$\boxed{\operatorname{cotg}(-x - \pi) - \frac{2}{3} = y}$$

abg by cotg prop:

$$0 < -x - \pi < \pi$$

$$\pi < -x < 2\pi \quad | \cdot (-1)$$

$$-\pi > x > -2\pi$$

$$Df^{-1} = (-2\pi, -\pi) = Hf$$

$$10) \quad x = \cos\left(y - \frac{\pi}{2}\right) + 4$$

$$x - 4 = \cos\left(y - \frac{\pi}{2}\right)$$

$$\arccos(x - 4) = y - \frac{\pi}{2}$$

$$\boxed{\arccos(x - 4) + \frac{\pi}{2} = y}$$

$$0 \leq x - \frac{\pi}{2} \leq \pi$$

$$\frac{\pi}{2} \leq x \leq \frac{3}{2}\pi$$

$$Df = \left\langle \frac{\pi}{2}, \frac{3}{2}\pi \right\rangle = Hf^{-1}$$

$$-1 \leq x - 4 \leq 1$$

$$3 \leq x \leq 5$$

$$Df^{-1} = \langle 3, 5 \rangle = Hf$$

$$11) \quad x = \operatorname{cotg}(y + \pi)$$

$$\operatorname{arccotg} x = y + \pi$$

$$\boxed{\operatorname{arccotg} x - \pi = y}$$

$$0 < x + \pi < \pi$$

$$-\pi < x < 0$$

$$Df = (-\pi, 0) = Hf^{-1}$$

~~cos~~

~~Df = \left\langle \frac{\pi}{2}, \frac{3}{2}\pi \right\rangle = Hf^{-1}~~

$$Df^{-1} = R = Hf$$